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cight boxes P, Q, R, S, T, U, Vand W are stacked one above another and each box c
different fruits in it likely Mango, Papaya, Fig, Grapes, Strawberry, Apple, Banana and
Orange not necessarily in the same order. The box at the bottom is numbered 1,
immediately above it is numbered as 2 and so on. Banana is placed immediately below
Apple. Three boxes are kept between box Q and R. Strawberry is kept in the box W. There
are two boxes placed between Papaya and Mango. Mango is kept above Papaya. Box T
contains Grapes. Banana is kept above Orange. S does not contain Mango. The box which
contains Apple is placed in an even nhumbered position above box three. Two boxes are
kept between the boxes of Papaya and Strawberry. One box is kept between Banana and
box U that contains Orange. Box Q is kept at the top. The box which contains Grapes is
immediately below Orange box. There is one box between box V and S.

s B P, Q,R,S, T, U, VI W TFH cHY F FU T T § 3T IAF f3ed & re9r-3reT el &1 Th
A HA| I8 A= T 91T DT 1 a1 8T TAT T, ST Sh FUN 2 311 36 g 3mer oY A« e
AT g1 et Y VT & S A1 T@T 141 ¢ | f3=a1 Q 31X R & i st Bsa 1@ 10 &1 Terad &) Bt
W F @7 T &1 9T 3R 3 & g &) fBea W@ e §| v d F IR A @ AT gl Rear A
IR &1 F F T & FU I@T ATGT §1 S 7 373 181 8| I8 f3a1 FTwe Apple &, Bear it & 3w
TS WA TEAT aTel) Feufy & @ ¥ g 3t e & ey & i &) Bea 1@ ¥ o sk A
mﬁ%ﬁuﬂ:aﬁaw%ﬂww%lhqﬁmmwm%lmﬁ#m%a@
AT foed & Y A g1 fTeaT v 31 s & AT v fEear B
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Eight boxes P, Q, R, S, T, U, Vand W are

stacked one above another and each box
contains different fruits in it likely Mango,
Papaya, Fig, Grapes, Strawberry, Apple,
Banana and Orange not necessarily in the
same order. The box at the bottom is
numbered 1, immediately above it is numbered
as 2 and so on.Banana is placed immediately
below Apple. Three boxes are kept between
box Q and R. Strawberry is kept in the box W.
There are two boxes placed between Papaya
and Mango. Mango is kept above Papaya. Box T
contains Grapes. Banana is kept above Orange.
S does not contain Mango. The box which
contains Apple is placed in an even numbered
position above box three. Two boxes are kept
between the boxes of Papaya and Strawberry.
One box is kept between Banana and box U
that contains Orange. Box Q is kept at the top.
The box which contains Grapes is immediately
below Orange box. There is one box between
box V and S.
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How many fruit boxes are there between the boxes containing Fig and Grapes?

IR 3R IR a7l F fiT F vl & fraa B3 &2

A.Four

B'Three Box Box name | Fruit
C.Five poion | Jaite
D.Two AN A
E.None of these _

Strawberry
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Which of the following fruit is kept in the Box V?
frafaf@a & & sl 91 v Bsar V & @r w82

A.Mango 0 = 1 .
B.Apple

C.Papaya

D.Orange -

E.Grapes - Ha

Apple
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Which of the following box is placed immediately above Papaya?

fafaf@d & O Sl 91 Bear vhia & S FUX @1 7T 872

TS

I = S 0
A.F
.rig 2 o
Pd = ‘.“:.-

c.Strawh -

C-StraWberry position ::n;cje

D.Grapes Ha
_

E.Apple :
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Which of the following box is placed between the boxes P and R?

A T & O &l a1 Fear P 31k R @ead & & & @7 141 82

-

L.

A Q = S
[ g
ae

- »To0

*d e - -

)

C.U

D.W Bo Box name | Fruit

E T pusltmn inside
| |

Mango

Apple
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Which of the following ng contains Apple in it? 0 1 &
frfaf@a & 9 5y 99 # 49 872

A- BOX S Box name | Fruit

C.Box V
D.Box T : -
E.None of these :
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A person starts walking from his home towards the west. After walking 4m h
he turns to the left. Then he walks for 7m and reaches a coffee shop. From
there he turns to his right and walks for 3m. Finally he turns to his right and
walks for some distance and reach a mall which is exactly in the west of his
home.

Us ST U X { gRHA Y IR TAAT qE FIAT g1 4 TR F «1g a8 At AW q3
malﬁwag7mm%aﬁtwmamwm%law#a€mmm
AT § 3R 3 it Taar 1 AT A qF Hed qfeet W FsAT § IR FO P A @ AR
m#qﬁm%a’rmw%mqﬁimﬁ%l

What is the direction of the coffee shop with respect to the mall?
ATT & Hogsl # HIdr AT Hir far 47 8§72

A.South-east

B.South

C.North-west

D.East

E.South-west 0 1 -~
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A person starts walking from his home towards the west. After walking 4m
he turns to the left. Then he walks for 7m and reaches a coffee shop. From
there he turns to his right and walks for 3m. Finally he turns to his right and
walks for some distance and reach a mall which is exactly in the west of his
home.

Us ST U X { gRHA Y IR TAAT qE FIAT g1 4 TR F «1g a8 At AW q3
m%lﬁwag7mm%aﬁtwmamwm%law#a€mmm
AT § 3R 3 it Taar 1 AT A qF Hed qfeet W FsAT § IR FO P A @ AR
W#m%a’rmwa:mqﬁimﬁ%l

What is the distance between his home and the mall?
3U% WX AR AT F AT A gl Pl §2

A.3m
B.4m
C.6m
D.10m
E.7m

3m Coffee Shop
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A person starts walking from his home towards the west. After walking 4m h
he turns to the left. Then he walks for 7m and reaches a coffee shop. From
there he turns to his right and walks for 3m. Finally he turns to his right and
walks for some distance and reach a mall which is exactly in the west of his
home.

Us ST U X { gRHA Y IR TAAT qE FIAT g1 4 TR F «1g a8 At AW q3
m%lﬁwag7mm%aﬁtwmamwm%law#a€mmm
AT § 3R 3 it Taar 1 AT A qF Hed qfeet W FsAT § IR FO P A @ AR
m#qﬁm%a’rmw#mqﬁimﬁ%l

What is the direction of his home with respect to the coffee shop?
HIHT AT & g A 3dd =X i 2w 471 872

A.East
B.South-west
C.West
D.North-east
E.South-east

m Coffee Shop
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TM are elght membersi.e.Q, M, S, F, L, U, Vand W in a family havm,'
three generation. There are only three married couple in the family. S is
the mother of W. U is the mother of F. P is the aunt of L. Q has 2 children.
W is the only grandson of M. P is sister of Q. P is unmarried. L is brother-in-
law of V. S is not married to V. Each couple has at least one child.

e 91 arel IR & 36 G IAT Q, M, S, F, L, U, V 3R W & IRaR & Faa
T AT 2 &1 S, WE AT ¥1 U, F&Y AT &1 P, L At 31 Q & 2 o= &1 W,
M &T Shellar AiaT 81 P, Q Y g &1 P rfaaiRa 81 L, V #T scI-3-a1 &1 S, V&
RaiRa & ¥ 9@+ N2 & A T F7 TS T4 8
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How is U related to M? 0 = 15‘
U, M & 5 y&R aafla 872 »

P(-)7 Q(+/- )= M (+/")

A.Grandson |
B.granddaughter
C.Grandmother
D.Daughter
E.None of these
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If M is husband of Q then how is Q related to S? 0 15 =
Ife M, Q #1 ufa § at Q, S & ¥ YR Fafda g2
B.Sister AT

A.Brother

C.Sister-in-law _ l
D.Mother-in-law
E.None of these
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How F is related to Q? S
F, Q¥ F9 9R wafaa §2 o WT .o

A.Daughter
B.Granddaughter
C.brother
D.Sister-in-law
E.None of these

]
o
L e ¥
= S
“.): .
— ’?‘a.
P4 = - “1 V-4


http://www.mahendras.org/

oo -
a@ ' CLERK 2022 / /@ at 11:30 AM/ “

Eight alphabetical letters are arranged from left to right in such a
manner to form a meaningful word. All letters are different. The
word contains five consonants and three vowels.

Only two letters are between E and U. P is placed immediate left
of S. The number of letters to the left of E is the same as to the
right of U. The number of letters between A and P is the same as
between A and C. L is placed second to the left of A. N is one of
the letters in the word.

UF WY Aeg TolTet & foT 3TS FUIATAT &R 1 STC A GT¢ cqafedd fFar A 3|

T3t 3781 3reter &1 59 e F I i IR AT TR E

EIRUF AT FaaT Y 3raR EI P, S & i 918 3R ”AT &1 E F a1 31T 78R HY I&T

U & &1 30T 78T Y T&AT & GATT g1 A 3R P & ST ey Fr a=AT 3a-1 81 g

Elﬂ?%A##lir%l HC.LPTA ST A G T WIETIATE| N AE . & &R A
TH
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12 As many letters are between L and A is the same as between U and

EﬁTAa:aﬁirsﬁ?Té’rsfm%ﬁaﬁuaﬁT_ﬂ:aﬁa%?
A.S

B.P
C.C

D.N 0: 15.‘5

E.None of these

cCfEA NI RS
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13. How many consonants are between C and U? 0 15 5
C 3ix U & AT fhdsl <ol 87
A.l

B.2

C.3

D.None

E.More than three
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14. Which of the following statement is/are true? 0 = 1 “5'
A.C is placed immediate right of E S
B.Three letters are between N and S

C.A and N arenot adjacent to each other

D.E is placed second to the left of N

EAll are true FT A [ 5

RArfafRd 7 O Fld 9/ FUT a7 /82
A.C, E % 8 gy T@T AT §

Bl eI N 3RS . FdaHE

C.A 30T N Teh G8Y & 3THool el &

D.E I N . & TT § GHY FYT G I@T AT ¢
EFT T8
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15. What is the position of N with respect to S? 0 15 =
S & Teed A N FT TUH FIT 87

A.Immediate left
B.Immediate right
C.Second to the left
D.Third to the left
E.Fourth to the right

ctjEAINIY IR s
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16. If C is related to E and A is related to U in a certain way. Then, which of the
following letter is related to P?

Iy C, E ¥ §&fda ¢ 3k A s fftga & & U @ g@<fa &1 ar,
ffaf@a & ¥ Sl a1 3eR P & g&fa 872
A.N
B.E
C.L
D.S

E.P c [t IEAINIY RIS
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A man started walking from point A and walk towards north and stops at point B. Now e

takes a right turn followed by left turn and stops at point C. He finally takes a left turn and
stops at point D. Towards which direction the man has to walk from D to B, if he walks
10m before turning each turn?

UF A g A} ToeT IR FIAT § AR I AT 3N Foar § 3R g B
Sl &1 I T¢ e Hzar ¢ AN 38F 915 a0 Fzar § AR Qg cw S
9¢ AHd A ¢ H3aT ¢ 3R &g DR Thar 81 98 afda fra G F smar 8 p &
BdSF I+ §, Ife 98 Ycd® Al F Az ¥ ggar 10 Torar &2

a) South

b) North !
c) East 0 > 1 )
d) West e S

e) Southeast
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How many such pairs of the letter are there in the word ‘ADHESIVE' each of which
has as many letters between them in the word as they have between them in the
English alphabetical series (both in the backward and forward direction)?

orsg 'ADHESIVE' & 318X & ¥ fhda s €, O9d @ 3« & &9 3aa &
R § oras 3o fiw sl aoiamer e (Res 3R e =t feemst /) 872

A.One .‘;,.‘
B.Two 0 = 1 ) o=
C.Three AN
D.Four

E.None
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In a certain code language, 0 1 -
‘Good better best strong’ written as ‘el ch ba tp’

‘Rest enough change better’ written as ‘in tp fo Ia’

‘Never failure good enough’ written as ‘gl sm el in’

‘Strength thought never rest’ written as ‘ho la dr sm’

What is the code for ‘strong’?
A.ch

B.ba

C.tp

D.el

E.Either ‘ch’ or 'ba’
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In a certain code language, 0 1 -
‘Good better best strong’ written as ‘el ch ba tp’

‘Rest enough change better’ written as ‘in tp fo Ia’

‘Never failure good enough’ written as ‘gl sm el in’

‘Strength thought never rest’ written as ‘ho la dr sm’

What is the code for ‘never change’?
A.sm fo

B.el sm

C.sm gl

D.fo in

E.Either ‘(a)’ or '(d)’
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- i
In a certain code language, 0'1 g
‘Good better best strong’ written as ‘el ch ba tp’
‘Rest enough change better’ written as ‘in tp fo Ia’
‘Never failure good enough’ written as ‘gl sm el in’
‘Strength thought never rest’ written as ‘ho la dr sm’

What is the code for ‘better strength'?
A.dr tp

B.la dr

C.sm tp

D.tp ho

E.Either ‘(a)’ or '(d)’
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Ten persons are sitting in two parallel rows containing five people each,
in such a way that there is equal distance between adjacent persons. In
row-1P, Q, R, S, and T are seated and all of them are facing north. In
row-2 A, B, C, D, and E are seated and all of them are facing south.
Persons sitting in row 1 and row 2 are facing each other.

P sits immediate left of the one who sits opposite to E. Two persons sit
between P and Q, who sits to the right of P. A sits third to the right of C,
who doesn’t sit adjacent to E. D sits opposite to R, who doesn’t sit
adjacent to Q. T doesn’t sit opposite to B.

g <gfFd & AT UfFaal # 48 § Fad @ vAF & 9= aer §, 33 YhR Aol
afdadl & fiT gAW gt 31 9fFa-1 7 pq,R, s 3R T4 § 3K 37 welt &1 7w 3w Ay
,DaﬁTEaﬁ%aﬁTmHﬁmwﬁwaﬁm%léﬁ-‘d IR
gfdd 2 & 43 afFa vF qEy f 3N 377F B

S EF AT dor ¥ Pk aF AT Y IRT B E AN
| A,CH S ¥ Y TAT UX &3T &, ST EF ATHeT Aal daT ¢l D R
QF AT el a7 ¢l T, B F RAuda 7t dar1 gl

2
o
?f
Y.
>
w
g

' CLERK 2022 / /mmmat 11:30 AM/ 0
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persons are sitting in two parallel rows containing five people each, in W
a way that there is equal distance between adjacent persons. In row-1 P, Q, R, S,
and T are seated and all of them are facing north. In row-2 A, B, C, D, and E are
seated and all of them are facing south. Persons sitting in row 1 and row 2 are
facing each other.

P sits immediate left of the one who sits opposite to E. Two persons sit between
P and Q, who sits to the right of P. A sits third to the right of C, who doesn’t sit
adjacent to E. D sits opposite to R, who doesn’t sit adjacent to Q. T doesn’t sit
opposite to B.
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“Who amongst the following sits immediate left of the one who sits ‘hl
opposite to B?

frfaf@a & @ #l9 B & RQulg &6 =afea & S I dor 82
A.Q
B.S
C.T

D.P 0: 15.‘5

E.None of these
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Who amongst the following sits third to the right of T? 0 ‘I
ﬁmﬁrﬁﬁﬁ#aﬁaT%m#Fﬁmewéa%? -

A.The one who sits opposite to C
B.P

C.The one who sits opposite to D

D.Q

E.NoO one
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How many persons sit between P and the one who sits opposite to C?

P 3k C & RAulla 33 =afda & #ey Faa =afaa 33 &7

A.No one

B.One N
C.Two 0 2 1 )
D.More than two T e Y,
E.P himself sits opposite to C
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“Which of the following statement/statements is/are not true? 0 . 1 ;::

A.Only one person sits between D and B

B.P sits adjacent to R

C.Q sits adjacent to the one who sits opposite to E
D.Both (a) and (c)

E.Both (b) and (c)

Rrafaf@a & @ #i9 91/ FUT/FIT T T8T &/82
A.D IR BF T Faa v gFadsrd
B.P,R. % ITH-A BT &

C.Q 3U SATFd & 3ol 43T 8 S E & fAdid dord
D.2¥T (1) 37 ()

E.gYat (aff) 3R ()
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Mrtam number of persons are sitting in a row facing North dlrectlo"
Information about some of them is given below. Not more than 19
persons sit in the row.

J sits 3"d to the left of M. Not more than five persons sit to the left of E.
Two persons sit between J and E. Number of persons who sit between M
and F is the same as the number of persons who sit between J and D.
Only four persons sit between M and D. Person who sits immediate left

of B is not known. More than 12 persons but not an odd number of
persons sit between K and D. Only three persons sit between B and F. F
sits to the right of B.

v fAfRaa gear # sufFa s R A I AT FEH H IFT AT SaA A FEF IR A
AT A &) 718 & | 9FFT & 19 @ 3RAF culad ¢t o &
IMFTR AN AT RIS EF T IT I AVF AFT AT 8 &1 ) IR EF ATar
mﬁ?rﬁ%%l M 3T F & i daa a1l SITFaaT 1 €T, ) & S doo arel sFfFaar H gear
AT 21 3T D. M 3R D & fig Faa IR AFT S &1 B F Sih 91 &S FfFa 1 qar AT g1 K
3R D F fiT 12 A 3WF IfFa AfFa TUH TE&IT A IfFa g d5d & | Fa dist IfFa B 3R
Fh AT asad &I F, B F S AT dsar gl
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Y\ tain number of persons are sitting in a row facing North direction. "
Information about some of them is given below. Not more than 19 persons sit
in the row.

J sits 3" to the left of M. Not more than five persons sit to the left of E. Two
persons sit between J and E. Number of persons who sit between M and F is
the same as the nhumber of persons who sit between J and D. Only four
persons sit between M and D. Person who sits immediate left of B is not
known. More than 12 persons but not an odd number of persons sit between
K and D. Only three persons sit between B and F. F sits to the right of B.
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17. How many persons sit between J and K?
) 3k K& 7t fFaa safaa 3 &2

A.SiX
B.Seven
C.Four
D.Five
E.Nine



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

18. Who among the following sits immediate right of B?

AFafe@d & q 39 B & & & o1 872

A. AR
B.D 0: 1 5
C.Not known

D.K

E.None of these
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19. If a person Y sits exactly between M and B then what is the position of F with
respect to Y?

g F AT Y, M3IRBF S fig A da1 8, AV Y & Tegst & F &1 T¥A
FIT 87

A.4th to the right

B.3rd to the left 0_1 2,

C.5th to the left
D.6th to the right
E.2nd to the right
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20. How many total number of persons sit towards the right of

M?

M & crft 3T For fFaa AfFd 43 87 0154‘
A.10 4
B.7
C.6
D.11
E.8
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21. How many total number of persons sit in the row?
qfFd # Fel ﬁa—cl?‘r gfdd 48 g7

A.18
B.15
C.13
D.19
E.17
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mmr the questions based on the information given below. | 4
Eight persons viz. M, N, O, P, Q, R, S and T are seated in a square table
such that two persons are seated on every side of the table, but not
necessarily in the same order. All of them are facing away from the center.
N sits three persons away from M and is to the immediate right of T on the
same side. O sits second to the left of M. S sits adjacent to M and opposite
to P who is third to the left of Q.

e & 91 ATAR R & ITUR 9T 921 & 3R S|

TS egfdFd ATAI M, N, O, P, Q, R, S 31X T T TaITpR AT A 3T YFR o8& & fr ey =i
AT & gL dIH o4O 8, Afhet ST 78T o s 7 & 811 37 T3 &1 7AW g A I8 HY A
N, M & et safa gT do1d 3 3T 3 T & S gl AT R 0, M F A A GIY T W
FSTR s, M & 3aeT 3 P & Rdia do12, 5 Q & a9 & AEY TUT TR
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‘Answer the questions based on the information given below. | 4
Eight persons viz. M, N, O, P, Q, R, S and T are seated in a square table
such that two persons are seated on every side of the table, but not
necessarily in the same order. All of them are facing away from the center.
N sits three persons away from M and is to the immediate right of T on the
same side. O sits second to the left of M. S sits adjacent to M and opposite
to P who is third to the left of Q.
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18. Who among the following person sits to the immediate right of P?

i@ d & T Fi9 P & 8 g doT 82

A-Q = ‘it;:‘
B.The one who sits second to the left of Q 0 T 15
c.O ]
D.The one who sits immediate left of N.

E.None of these
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19. How many persons sit between Q and O when counted from the left of Q?

Q¥ T ¥ e W Q 3R O & ALY fFas =ufFa &85 &2

A.1  2%e.
B.2 0 > 1 5
cC.3 A N
D.More than three

E.None
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20. Who among the following person sits second to the right of the one who Sits
opposite to M?

frrafaf@a & @ 9 M F RAadia 35 =afda & g ¥ qE¥ T W a1 872

A.O
B.P
C.N
D.Q
E

.None of these
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21. What is the position of S with respect to 0?
O & W H S HT TAH FAT g7

A.Second to the right

B.Faces away

C.Third to the right

D.Immediate right

E.None of these
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22. If N is related to R and M is related to T in a certain way, then who among the
following person is related to Q?

IJie N, RY TE®T ¢ 3R Mt [Aftad alils 4 T @ wefdq §, aY Aeafaf@a
A ¥ # QA T 7 0 15_,.
A.S 1H=
B.O 2 2 e
C.P
D.T
E.N
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e are five persons Sarthak, Prachi, Rohan, Kanika and Gagan. Two of them are Doctors,‘.l
while other three are Engineer, Architect and Chartered Accountant. A doctor and the Chartered
Accountant own a same car Superb. The other three own different cars viz. City, Innova and
Verna. Two of the five persons stay in Mumbai, while the other three persons live in three
different cities viz. Delhi, Pune and Bangalore. The Chartered Accountant is the tallest, while the
doctor who is an ENT is the shortest. The other doctor is an eye specialist and lies between the
Engineer and Chartered Accountant height wise. Kanika is an eye specialist and owns Superb
while Gagan lives in Delhi and owns a Verna. The engineer lives in Pune and owns a City. Prachi
lives in Bangalore, while Sarthak lives in Mumbai and is an ENT.

U afed 9rd®, 9, VT, ST T T &1 ST8 T 3 SiFe &, i 37 dieT
gSlfeIaR, 3fhese R TS F13ee &1 TH e AR AES THhI3ee & U UH &l
R YIS g1 3o ofieT & I -3 FR ¢l /A, gollar 3k awan) a9 F @ @

fFd Hag F WA 8, TafF 3T fieT safFa dfier rerer-arer et F wa &1 e,

]
3
§

g s
|
"

4
§
"
3
%

123
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There are five persons Sarthak, Prachi, Ro"
Kanika and Gagan. Two of them are Doctors,
while other three are Engineer, Architect and
Chartered Accountant. A doctor and the
Chartered Accountant own a same car Superb.
The other three own different cars viz. City,
Innova and Verna. Two of the five persons stay
in Mumbai, while the other three persons live
in three different cities viz. Delhi, Pune and
Bangalore. The Chartered Accountant is the
tallest, while the doctor who is an ENT is the
shortest. The other doctor is an eye specialist
and lies between the Engineer and Chartered
Accountant height wise. Kanika is an eye
specialist and owns Superb while Gagan lives
in Delhi and owns a Verna. The engineer lives
in Pune and owns a City. Prachi lives in
Bangalore, while Sarthak lives in Mumbai and
is an ENT.


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ ﬂ
0:15

1.What is Prachi by profession?
9 & gt F4T 82

A)En ineer Person |Profession Place Car |Height
g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi /Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect Kanika Doctor (Eye specialist)Mumbai  Superb2

D) Doctor Gagan |Architect Delhi Verna 4
E) Cannot be determined
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2. What is Gagan by profession?
9 § NPT FAT 87

Person |Profession Place Car |Height
A) Engineer Sarthak/Doctor (ENT) Mumbai |Innovals
Prachi Chartered Accountant Bangalore Superb|l
B) Chartered Accountant Rohan [Engineer Pune City 3

C) Architect Kanika Doctor (Eye specialist)Mumbai  Superb2
Gagan |Architect Delhi Verna 4

D) Doctor

E) Cannot be determined
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3. What is Rohan by profession?
a9 ¥ AT FAT 872

. Person Protfession Place Car Height
A)Engineer >
) g Sarthak/Doctor (ENT) Mumbai |Innovals
B) Chartered Accountant Prachi (Chartered Accountant BangaloreSuperbl|l
. Rohan [Engineer Pune City 3
C) Architect E )
) Kanika Doctor (Eye specialist)Mumbai  Superb2
D) Doctor Gagan |Architect Delhi Verna 4

E) Cannot be determined
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4. Which of the following statements is correct?
fPfaf@a sy # § Fi9 T8 872
A)Gagan lives in Mumbai

B) Sarthak owns a Verna

C) Rohan is a Chartered Accountant

D) Kanika lives in Mumbai Person |Profession Place  /Car |Height
E) Prachi is an Engineer Sarthak|Doctor (ENT) Mumbai [nnovals

Prachi Chartered Accountant |Bangalore Superb/l
Rohan [Engineer Pune City 3

Kanika Doctor (Eye specialist) Mumbai  Superb2

Gagan |Architect Delhi Verna 4
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Seven students viz. E, F, G, H, I, J and K are having different number of
chocolates with them, but not necessarily in the same order. E has less
number of chocolates than K but more number of chocolates than G. J has
more number of chocolates than F. Not more than two persons has less
number of chocolate than E. F has less number of chocolates than K but
more than E.H has more number of chocolates than J. I doesn’t have more
number of chocolates than G. The person with the second least number of
chocolates has 18 chocolates whereas the person with the second highest
number of chocolates has 26 chocolates. Neither H nor K has 26

chocolates.
A1 B 34Tl E F, G R H,1,) 3R K& 910 F9-39T HEAT A didhdc &, ofhed ST oIl
fF 39 %5 & g1 EF I KH FA ol & dAfhad GU IS Alhele §1 JF TH FH

:
%ﬁ
eh
£
f
v
F
5
i
£
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5. Who among the following person has the third highest number of
chocolates?

farfaf@a & @ frw safda & g R ga@ I3+ aidae g7
A.l

B.I

C_F H>]1]>K>F>E>G>1
D.K l
E.None of these

26
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6. How many possible chocolates does H has? 0 15 *_,
H & g fradl wsnfaa afede 82

A.26

B.32 H>)J>K>F>E>G>1I

C.18 l l
D.12

E.None of these 26 18
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7. Who among the following person has second highest chocolates than

G?
frfaf@a # & 5 =afed & o9 G & qEll a9 91 AFac &2
A.F
B.E
C.K

D_J H>]1>K>F>E>G>1

E.None of these l l

26 18
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8. How many persons have less humber of chocolates than J?

fhdar <gfFdar & I J § FH dldoc 87

A-One H>]>K>F>E>0G2>1
B.Four l l
C.Five

D.Three

E.None of these
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9. Statements:

Only a few Crow is Dove WW?TEH%
Some Dove is Goose W?HW%

No Goose is Turkey aﬂéiﬁraﬁaﬁ%
Conclusions: ey

). All Dove is Turkey | gsft sT Hl @

). Some Crow can be Goose 1 W?FTWGTW%

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.
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10 Statements:

CC
Only a few Ostrich are Sparrow FId FS ARAT AMNATE
No Sparrow is Peacock FIE TR fiepi 8T &
All Peacock is Duck TNt fietr sF
Conclusions: fasay:
). Some Sparrow being Duck is a . FO TR F F g AT THTTT
possibility Il. H YA AT A &

II). Some Ostrich is not Peacock

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.
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11. Statements:

Only a few Gear is Wheel ;q:q,—g;ﬁ-qq-o—aq%
All Gear is Bumper ot R su

All Bumper is Wiper gt sux aa ¥
Conclusions: fSahy:

). No Wheel is Bumper . P AT T AST ¢
Il). All Wiper is Gear . g3 arsu AT

a)If Only conclusion I follows.

b)If Only conclusion II follows.

c)If either conclusion I or II follows.
d)If neither conclusion I nor II follows.
e)If both conclusions I and II follow.
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